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Q.No: 1 A coin is tossed two times, What is the probability that both times heads appeared, it is given that at least one time head appeared?
2444114

TP 535 $1 4 IR ISTAl S 31 THS! 1 Wi § [ G OR fd vae gY, g8 i e @ B W 9 o 1 O fd vae gem

win

W

(AR

[SEE [SEE

L

1

4
Correct Ans : B
Subject : Maths

Q.No: 2 Three cards are drawn successively, without replacement from a pack of 52 well-shuffled cards. What is the probability that the first two cards drawn are numbered cards and
2444120 card drawn is a face card?

52 3 aRE A A T Ui & U F AR <@ o, N TR wite T e )t 81 3wt s miled § fF Re e ued € o eifdd ara o 81 SR dRRT ferar wan uw v AgRT g
148

995

148
995

226
1105

226
1105

148
1103

148
1103

126
1105

126
1105

Correct Ans : D

Subject : Maths
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Q.No: 3 A person forgot the last two digits of his five digits ATM PIN. If he randomly enters the last two digits after correctly entering the first three, then what is the probability of ente
2444136 (orrect PIN?

TF R I U 3P & TeH fF F offam 3 i @ Tl Al 9% Ed I B W €0 @ o T F 918 el v @ sifon & ot F vaw v 7, o w6t O o S Y widean @ @2
1

99

2

99
Correct Ans : C
Subject : Maths

Q.No: 4 Out of 6 different consonants and 4 different vowels, how many words of 2 consonants and 2 vowels can be formed, if no letter is repeated?
2444141

g DS &R T TeT Il 7, <t 6 fAfir o 3R 4 faftrs w_i & A 2 oo ok 2 Wl & foeH g o I9d 82

1880
A

1880

2210
B

2210

2160
C

2160

2350
D

2350

Correct Ans : C
Subject : Maths

Q.No: 5 A number lock on a suitcase has 4 wheels each marked with 10 digits from 0 to 9. If the opening of the lock is a particular sequence of four digits with no repeats, how many s
2444147 sequences will be possible?

TP TEIHd W TF TR AP A 4 IRT A §, FrH I 7dd R0 A9 9% & 10 oiF a1 §1 Al a1en Wrern IR il 1 o AR o1 8, Srad o1 igva =gl 8, @ W fvam o7 v g

9999
A

9999

10000
B

10000

2880
C

2880

D 5040
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5040
Correct Ans : D

Subject : Maths

Q.No: 6  There are 10 people among whom two are females. Find the number of ways in which they can sit around a circular table so that there is exactly one male sitting between the
2444148 fomgles,

10 @ § ford <) Bfemy §1 I TS Ft T FId B O F TP qAPR A F TR SR I3 THd § A 31 aRkenslt & fiu SiF w328 Jo1 91

40320
A

40320

5040
B

5040

80640
Cc

80640

10320
D

10320

Correct Ans : C
Subject : Maths

Q.No: 7 There are eight points on a plane of which four are collinear. How many straight lines can be drawn using these points?

2444158

TF 7d W 316 fig & fomd & ar Ww g1 37 [Ngsh &1 Iuan v et Wef) Yard dieh < geedt 82

30
A

30

29
B

29

23
c

23

28
D

28

Correct Ans : C
Subject : Maths

Q.No: 8  There are 6 people seated in two rows (3 in 1 row) and there are two types of newspapers. Each row can be read any of the two newspapers but it must be different from the
2444160 o, In how many ways the newspapers can be read?

3 fFadt (& U@ ufd) # 6 A 93 § R Q UBR F IUER F 1 TAE Ufad ) GurER o § & B oft ug Fadt 7 AfeA 97 gl ufda § srem 1 91w IuER v @) fae TR 9 ugr

1440
A

1440

3256
B

3256

2460
C

2460

2888
D

2888

Correct Ans : A
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Subject : Maths

Q.No: 9  There are 2 red shirts, 3 black shirts, 3 white trousers and 2 blue trousers. In how many ways a shopkeeper can arrange these things so that all the black shirts come togethei
2444168 the blue trousers come together?

2 I B, 3 Pt B, 3 Wihe Taer IR 2 it Taqd &1 TP gPMER 37 il & fha adie! ¥ oqafud o) Sodl § & 9t ot writel oo a1y o wg 3R Wt +Fielt vaee e [y on wme?

30240
A

30240

60480
B

60480

50720
C

50720

25360
D

25360

Correct Ans : B
Subject : Maths

Q.No: 10 The algebraic sum of the deviation of 45 observations measured from 20 is 5.Find the mean of the observations.

2444171

20 & Ardt 7 45 Vol F fagem F1 oM A 5 ¥ el 1 mer gid Sk

18.22
A

18.22

20.11
B

20.11

19.33
C

19.33

21.11
D

21.11

Correct Ans : B

Subject : Maths

Q.No: 11  The mean of a group of 44 observations was found to be 68. Later on, it was found that four observations were incorrect, which was recorded as 12, 15, 19, and 18. Find the r
2444176 remaining observations, if the incorrect observations are omitted.

44 Vvl & TP THE BT WA 68 U TN &G A, I8 IR T4 b IR Va1 werd A, R 12, 15, 19 3R 18 T U H gl fobdl T AT [ Vefuil BT A 1 pifong, Al Terd HeT 91 M 7

73.2
A

73.2

75
B

75

63.5
C

63.5

69.4
D

69.4

Correct Ans : A

Subject : Maths

Q.No: 12
2444186
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A shopkeeper sold 90 cold drink bottles out of which some are 1 litre while the remaining are 2 litres. The average volume of all the bottles is 1.6 litres. What is the difference
the number of 1 litre and 2 litres bottles?

TP gHFER A Bics E@ 3 90 diadt 9, o ¥ 3o 1 diex 3t § afes Aw 2 fex 35t §1 wft Saal @t sivga aEm 1.6 dieR 81 1 dex 3R 2 diex 3t sl @t S & T iR 32

115
A

115

36
B

36

18
Cc

18

27
D

27

Correct Ans : C
Subject : Maths

Q.No: 13 The mean of the 7 consecutive integers starting with 'x' is 'a'. What is the mean of 9 consecutive integers that start with (x - 2)?

2444195
'x' ¥ I B a1l 7 HANTT QUITeh! BT HIT 'a’ BIT 81 (x - 2) ¥ & 8 911 9 AN QUiteh! ol A1 1 82
a+1

A
a+1
a

B
a
a+2

o
a+2
a-1

D
a-1

Correct Ans : D
Subject : Maths

444201 2c0t0 ; 1
is equal to:
(1 + cot 8 + cosec 6) q

2cotb6
(1 + cot 6 + cosec 0)

& TR

1+ cot 8 - cosec B

A
1+ cot 8 - cosec 6
1 - cot B cosec 8
B
1 - cot 6 cosec B
1+ cosec ©-cot
C
1+ cosec 6 - cot @
1 + cot 8 cosec 6
D

1 + cot B cosec B
Correct Ans : A
Subject : Maths

Q.No: 15
2444207
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3 ; ;
If cos 6 =2 what is the value of sin 8. sec 6. tan 6?

afecos 6 =§’5‘, al sin 6.sec6.tan 6 T AR FAT &7

3
4

& e

[ANFS

Wl

Correct Ans : B

Subject : Maths

Q.No: 16 sin5A —cosA
2444218 [f sin A = a and cos A =b, then what is the value of-—( - ) A
: (cos2A —sin2A)

afigsinA=a3RcosA=bg (SinSA_COSA)

(cos2A —sin2A)

&1 AT fehdr 87

(3(a+b) - 4(a’ + b))

A
(3(a +b) - 4(a° + b))
(3(a +b) - 4(a*-b%)
B
(3(a+b)-4(a*-b?)
(3(a-b) - 4(a’ + b3)
C
(3(a-b)-4(a* +b%)
(3(a-b) - 4(a*- b))
N

(3(a-b)-4(a’- b))

Correct Ans : A
Subject : Maths

Q.No: 17 . : . L7 N : : . 2
2444228 What are the solutions to 12 sin (2x S n) = 6VZ,inthe interval x € [0, ] ?

TRl ¢ [0, 1) H12 sin (2x — Zn) = 6VZ b gl WA BIRAI
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n 3n
—or—
4 4
s 3
4 4
17 21
—Tor—TU
24 24

B
17 21
— —T
24“1-” 24
17 23
—TmMor—T
24 24

[
17 23
=
24“ 24Tt
23 27
—TMOoI'—T
24 28

D

23 27

=nll=mn

24 28
Correct Ans : C

Subject : Maths

Q.No: 18 What is x intercept of the line join by the points (4, 3) and (5, 8)?
2444234

fig (4, 3) IR (5, 8) F &I e Al Y1 &1 x oS FT §?

Correct Ans : C
Subject : Maths

Q.No: 19 Find the co-ordinates of the centroid of a triangle whose vertices are (0, 6) (8, 12) and (8, 0).
2444241

e ¥ Fga S Fwie I Si[, e < (o, 6) (8, 12) 3k (8, 0) B

(59)
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(63)

(6,5)
C

(6,5)

(6,3)
D

(6,3)

Correct Ans : A
Subject : Maths

Q.No: 20 If the are a of the triangle with vertices (x,0), (1,1) and (0,2) is 4 square unit then a value of x is-
2444252

T =it (x,0),(1,1) #R (0,2) ad AU BT &T60 4 T SHE §, T9 xPT TF AF G-

-2
A

-2

-4
B

-4

-6
c

-6

8
D

8

Correct Ans : C

Subject : Maths

Q.No: 21 The equation of straight line which passes through the point (1, -2) and cuts of equal intercepts from the axis, is:
2444263

fig (1, -2) F TR arcll T 31elf § T fd: WS Bl Tl T 3@ T GHHW §:

xX+y=1
A
X+y=1
x=-y=1
B
X-y=
xX-y-2=0
c
X-y-2=0
x+y+1=0
D
x+y+1=0

Correct Ans : D

Subject : Maths

.No: 22 b
2442,273 If§+ %+ E =1and §+ P + ; = 0, where p, q, rand a, b, ¢ are non-zero,
pz q2 r2
then find the value of — + -+ —
a b2 2

uﬁ:%+%+§=13ﬁ?§+§+§=0,aﬁp, q, r A a, b, ¢ A-eF

pZ q2 r2
a5+ 5+ = F: AT AT FiEA
a b2 = c?
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0
B

1}

1
Cc

1

2
D

2

Correct Ans : C

Subject : Maths

Qho: 25 Ifaandparetherootsofequation 2’ —(p+1)x+(p-1)=0. anda-S=«p then what is the
value of p?
T « 3RP FHHOT 20 - (p+D)x+(p-1)=0.% AF & qA «-p=af @ p & AT &I
P
1
A
1
2
B
2
3
C
3
-2
D
-2

Correct Ans : B
Subject : Maths

Q.No: 24

2444303 ¢ aht1 4 pntt

e arithmetic mean of a and b thenn = ?

+ +1
Ay A0 e BT EHRR M A dd n = ?

all + b

A
1
-1
B
-1
o
c
0
2
D
2

Correct Ans : C
Subject : Maths

Q.No: 25
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2444313

The sixth Harmonic mean between 3 and 1—63 is:

3 aﬁ?%%@a%ﬁsﬂwmm%:

63
120

63
120

63

12

63
12

126
105

126
105

120
63

120
63

Correct Ans : A
Subject : Maths

Q.No: 26 What is the sum of the first 7 terms of a geometric progression whose first term is 1 and 4th term is 8?
2444323

TF Ui ARt & Ugd 7 UGl S AT a1 T ORIt Ugen g 1 SR 91 ug 8 87

129
A

129

128
B

128

127
Cc

127

124
D

124

Correct Ans : C
Subject : Maths

Q.No: 27 If P and Q are point on the line joining A(-2, 5) and B(3, 1) such that AP = PQ = QB, then mid point of PQ is :
2444332

I P 3R Q, A(-2, 5) TUT B(3, 1) F e arclt a1 R 30 g A & f5 AP = PQ = QB, @@ PQ FT HeA fag 7:

(2,3)
A

(2,3)

(1, 4)
B

(1, 4)

© o (h)
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Correct Ans : D
Subject : Maths

Q.No: 28 \yhich of the following(s) is/are correct?

2444348

T d s oA 32

A set of integers A is countable
A

quife! &1 T=g A T §

A set of Natural numbers A is countable
B

PR G $T 9g= A 0T §

A set of rational numbers A is countable
C

i Semsil a1 Ig=E A 0T §

A set of rational numbers A is uncountable
D

R Sl BT WY A SFTUR §
Correct Ans : D

Subject : Maths

S The value of (1 + ) x (1 — )Sis

A+ DSXx(1— i) BIAMAG:

-8
A

-8

8i
B

8i

8
C

8

32
D

32

Correct Ans : D
Subject : Maths

Q.No: 30 A and B play a game where each is asked to select a number from 1 to 25. If the two numbers match, both of them win a prize. The probability that they will not win a prize in
2444401 ;) s

A IR B TF E@ Ao ¢ s IS 31 1 | AR 25 7F Bt GEmedt F T U 4 T gl 71 Al S 31 e U ol oMt §, o S GREPR R €, ot 1 Tien ISR A Siiaq 31 wifiear

1
25
A
1
25
B 24

25
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24
25

25

4

25
Correct Ans : B
Subject : Maths

Q.No: 31 "Which of the following is/are type/s of forces in nature?
2443525

1. Gravitational

2. Electromagnetic

3. Nuclear

4. Weak

Choose the correct one.

“Prafefed § 3 o9 vgla § 9l & TR §/8?
1. Ty

2. foqgagasia

3. TRAM

4, AR

BEE R

1 and 2 only

Faa 1 3R 2
1, 2 and 3 only

FaqL, 23R 3
1, 3 and 4 only

Faa 1,3 3R 4

1, 2, 3 and 4 only

Fad 1,2, 334
Correct Ans : D

Subject : Physics

Q.No: 32 If a projectile is fired with a speed u of an angle © with the horizontal, then what will be its speed (v)
2443526 hen its direction of motion makes an angle « with the horizontal?

T Tk e Y &St § 0T © Y AT u F 1 ST B, Y IR Al () = gl STF 3w afy

&1 e afast & | H107 o gy 87
v=ucos ©seca
A
v=ucos ©secu
vi=u cos O sec u
B

vi=u cos © sec u

c v=ucos a sec O

GET IT ON

Google Play
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Vv=ucos «sect

v=u? cos u sec ©

v =u? cos a sec ©

Correct Ans : A

Subject : Physics

Q.No: 33 Nucleus contains about percent of the mass of the atom.
2443527
iftye & WA F GHAF BT AT TR a3
92
A
92
75
B
75
99.98
C
99.98
88.9
D
88.9

Correct Ans : C

Subject : Physics

Q.No: 34 "Which of the following equation is also a special case of the work-energy (WE) theorem?

2443530
(where a is acceleration, u and v are the initial and final speeds and s the distance traversed.)
Frafafa & § S vy Fr-gu @) T ARy Rufa 3 uefia F=ar 82 (SET a @R u auT v U SR g Sifw 91d ok s 9% gRT 9l TS g4 )
vi-ul =2as
A
v--u- =2as
vi+ul =2as
B
vi+ul =2as
v:.ul = 2as
C
vi.u® = 2as
v-.u=2as
D
viu=2as

Correct Ans : A

Subject : Physics

Q.No: 35 Which of the following source of energy is most widely used in India?

2443547
Froffed # 3 35 w1 Hof &1 Hd WRa § Fed oifie o O & Iwdn i S g2
Coal
A
P
Nuclear
B
e
Hydro
C
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D wina

vdl
Correct Ans : A

Subject : Physics

Q.No: 36 "For persons a, b and c, the image/jpgs formed in their eye has been depicted below in the diagrams-

2443553
Retina Retina
] (a)
Retina

(c)

Which of the following statements is correct?
1. Person a needs diverging lens.
2. Person c suffers from short sightedness.

3. Person b does not have any vision-problem."

HfekTal a, b 3R ¢ F o, S ol & 77 foll 1 9 fow TTw ot & gxifay mam B

%%

e

Fraffed s § § 917 w8 22

1. AR a $ HTEE A FF Sazawar 31
2. &fdd ¢ e 4w & difsa g

3. fE b B B =B -ww T 2l

Only 1 and 2
A

Faa 18R 2

Only 2and 3
B

Faa29R3

Only 1 and 3
C

Faa1 R 3

1,2and 3
D

1,23R3

Correct Ans : C

Subject : Physics

Q.No: 37 Which of the following statements is NOT correct about electric current?
2443556

faqga «r1 & SR # Pl & & o1 W T3 9 T 82

A Current is a vector quantity.

GET IT ON

Google Play
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TAgEd URI T G A E

1C of electric charge is equivalentto the charge contained in nearly 6 x 108 electrons.

B

1C TagTd 3TTA BT 6 x 1018 Seragrar # g 3maer & awax &1

An ammeter needs to be connected in series in an electrical circuit to determine how many amperes of current is flowing in the electric circuit.
C

T uy 3 fre TR o Taife 9 w6t 3, 76 PR 7 ¥ R v Yfier Y Rigge uRay § dofie § sher s aiw

1uA=10%A
D

1uA=10%A

Correct Ans : A

Subject : Physics

Q.No: 38 Which of the following is an insulator?

2443557
frofafed # § o 06 A 82
Bakelite
A
SPpare
Aluminum
B
Tegfafem
Copper
C
qiar
Silver
D
aiet

Correct Ans : A

Subject : Physics

Q.No: 39 Which of the following is an example of Newton’s second law of motion?

2443566

Frofafea & @ o1 e & 7R & W 9w 37 e 82

When a bus stops passengers standing in the bus fall in the forward direction.
A

I U o e § A 79 H G qr o it fwn F R o 8

A person gets hurt when he falls on a cement floor.
B

e ¥ v R iR R & =i & < ot 81

When a person jumps out of a boat, the boat moves in the opposite direction.
C

Ve BIE AR 1 Fean 8, @ 9 Aokt R § gt §1

During swimming we push the water in the backward direction, with our hands and feet, to move in forward direction.
D

T T IR o Y e 7 S & e 5 o Y oo gt R IR ¥ A it R et 3§

Correct Ans : B

Subject : Physics

Q.No: 40 According to Newton’s third law of motion, mark the correct option.
2443583
1. Action and reaction act on different bodies and so they can be cancelled out.

2. The internal action and reaction forces between different parts of a body do, however, sum to zero.

YA & Tfd S AR a9 F SFER T3l [deved o1 7997 $
1. foan T ufaferan aa < i Rvst w & 3 §1 or: 3 967 TP gEk &1 AR IR 6 g
2 i, Tt s  siale far qur ufafkar sof @1 4 oaxa & Ta gl §

A 1 only
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Faa 1
2 only
B
Fa 2
Both 1 and 2
C
g1 9iR 2
Neither 1 nor 2
D

TA1ARTH 2

Correct Ans : B

Subject : Physics

Q.No: 41 Which of the following equations is the correct representation of momentum?
2443585
[mass m and velocity v and momentum is denoted by p of the body]

Frofafea & 3 o a1 wiiewor 3 &1 w e g2
[ & semM m 3R 3 v R Wan Bl p gRI Fiefod fear T §)

p=m/v
A

p=m/v

p=v/m
B

p=v/m

p=mv
(o]

p=mv

p =m-v
D

p=m-v

Correct Ans : C

Subject : Physics

Q.No: 42 Which of the following has the correct value of 1 unit of Work/Energy in J?
2443588

Frofafea & § feaer 1 § s/l @1 1 TS 3T 96 AH1 82

1 erg = 1047
A

13T = 1047

1 electron volt (eV)=1.6 x 101°J
B

1 SoaeTe dlee (eV) = 1.6 x 1012 T

1 calorie (cal) =1.186J
C

1 & (cal) = 1.186 J

1 kilowatt hour (kWh) = 3.6 x 104 7J
D

1 frlTaTe-ger (kKWh) = 3.6 x 105 J
Correct Ans : B

Subject : Physics

Q.No: 43 A dog can hear sound of frequency up to about-
2443600

TS Pl AT fet g Bt @l g qebar 82
A 50 kHz
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50 kHz
60 kHz

60 kHz
70 kHz

70 kHz
80 kHz

80 kHz
Correct Ans : A

Subject : Physics

‘2?;"1‘; 64143 Which of the following represents the critical angle of a medium(8), for light going from the medium to
the air? (Given p>=1 and py=p)
e & ¥ T ATCTH F gaT H ST 1o ThIRT & T 37 ATCIA & shifae HI9T (O,) T Ifafaftea
FaTe? (e ar § =1 3R =)
6: =sintp
A
6. =sinlp
6. = sint (1/p)
B
6. = sin'! (1/p)
6. =cos! (1/p)
c
6 = cos ! (1/p)
6. =sin (1/p)
D

6c =sin (1/p)

Correct Ans : B

Subject : Physics

Q.No: 45  SI unit of power of lens is:
2443615

A B & DT T, IS, AED Q:

m
A

m

m-!
B

m-!

m-2
C

m-2

m-3
D

m-3

Correct Ans : B

Subject : Physics

Q.No: 46 Which of the following waves is/are longitudinal?
2443617
1. Light waves
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2. The wave on a string

3. Sound waves

Frofafea & & o @ o s §/82
1. TSI

2. 06 dR R AR

3. af ot

Only 1

Faa 1
Only 1 and 2

Faq 1 9k 2
Only 3

Faa 3
1,2and 3

1,23R3
Correct Ans : C
Subject : Physics

Q.No: 47 The dimension of speed is-

2443625
TR BT 3 §-
LT!
A
LT!
LT?
B
LT?
LT
C
LT
LT3
D
LT3

Correct Ans : A

Subject : Physics

Q.No: 48  yyhatis JC! a unit of?
2443645

JC! fohTeT ATAH 872

Potential

fava &1

Current

YRT &7

Resistance

TRRY FT
Charge

AT T

Correct Ans : A

Subject : Physics
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Q.No: 49 Tp. force of atiraction (F) between two particles having masses m; and m; is given by . (If ris the
2443648 . . . —
distance between them and G is a universal constant)

m, 3R m; SCAAT arey &) HUIT & & HTRYOT aeT (F) AR g ST (@ r3as dra drgli &
3R G vE e Aadais §)

Gz

re

nyms,
G 177%2

r2

Gl

r

mym-
(} 17702
r

G.mpimar?

G.mar?

mym,
r3

mym,
r3

Correct Ans : A

Subject : Physics

Q.No: 50 In case of total internal reflection, the entire light is back into the medium.
2443658
of SfiaRes R & " 3, e Igof TR v gy H 31 S 81
reflected, first
A
Rafdd, ww
reflected, second
B
ki, fecfa
refracted, first
C
ruaffa, wm
refracted, second
D

spafea, faca

Correct Ans : A

Subject : Physics

Q.No: 51  The surfaces of a lens maybe -
2443659

1. Both convex

2. Both concave

3. One convex and one concave

T S B g -

1. 3l I B 9B B

2. QR Sfaa & ¥Hd §

3. U I IR TP S & wBd 3
Only 1

Faa 1
B Only 2
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Faa 2

Only 2 and 3
C

Faa 2 AR 3

1,2and 3
D

1,23R3

Correct Ans : D

Subject : Physics

Q.No: 52 1 Light Year means -

2443675
1 verr Y T 8 3
9.46 trillion km
A
9.46 fefera fpedt
7.46 trillion km
8 7.46 2w
5.86 trillion km
C
5.86 fefor foedt
6.86 trillion km
D

6.86 fefer faet
Correct Ans : A

Subject : Physics

Q.No: 53 On the Kelvin scale, the melting point of ice is-

2443680
Bier T W, 96 @1 ToriE 8-
0K
A
0K
100 K
B
100 K
173K
c
173K
273K
D
273K

Correct Ans : D

Subject : Physics

Q.No: 54 Soundproofing materials -

2443691
R gl -
Reflect sound waves

A
afy T 1 vffifed Hwd §
Refract sound waves

B
afy ail ®Y Srmakfa s §
Absorb sound waves

C

e T st Bt &

D Dissolve sound waves

GET IT ON

Google Play
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i W B T B ¥
Correct Ans : C

Subject : Physics

Q.No: 55 Which of the following statements is incorrect?

2443705
frafefed & 3 1 @ Sy [ 82
The current produced by a battery is DC (Direct Current).
A
328 I Fipe Tt o1 RE yRT SR 31
The current that flows out from the switch points at homes is AC (Alternating Current).
B
R # e dige ¥ 967 areft 4R vl oRT gt R
Devices like electric motor that work on DC are stronger than those that use AC.
(o}
¥ 41 ¥ e A fggarieR SN I, WG YURT 91 gl @t gerT § Ho R RS g 7
People who accidentally come in contact with AC are flung afar.
D

S GRT et | e ¥R 3 W H of 9§ 3 fyew R R AR W |1

Correct Ans : C

Subject : Physics

Q.No: 56 The amount of light entering the eye may be controlled by varying the aperture of the pupil with the help of

2443717
it 3 gael ufkadl gRE @) Uifd Fr Fedt § R wg o 3 YT | SEa S el 1
Cornea
A
B
Iris
B
ufaieT
Retina
C
efRuea
Aqueous humour
D

eI

Correct Ans : B

Subject : Physics

Q.No: 57 What is the shape of the electromagnet that is used in an electric-bell?

2443766
farqge-4dt & TrgeR B a1 Riqga T 3 sy S Bk 82
Bar-shaped
A
TR F SAHR BT
Cylindrical shaped
B
TR SHBR
Ring-shaped
C
ST & PR BT
U-shaped
D
-3PR

Correct Ans : D

Subject : Physics


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Q.No: 58 "Which of the following is/are conservative force/s?
2443781

1. Force of gravity

2. Coulomb force

3. Force of spring

Choose the correct code”

fraffed § & oH-w/8 Wi 59 3/8?
1. @Y T

2. FoE q°

3. f&m &

Only 1

Fad 1
Only 1 and 3

Faa19R3
Only 2and 3

Faa 2 iR 3
1,2and 3

1,23R3

Correct Ans : D

Subject : Physics

Q.No: 59 Which of the following is not a limitation of generation of wind energy?

2443829
Fofifed & § 31 v o & Jare 3 e T e
They are hazardous for wildlife.
A
3 o1 Wit & R TR B
Wind-mills are always unsightly and damage the scenic beauty.
B
- EAR 4R, A ¥ SR IIpfies Yard P IHEH vge €
Wind power is not available all the time.
C
WA e T T IUA T g
Wind farms can be noisy.
D

I B 3 IR IR IR G4 g

Correct Ans : B

Subject : Physics

Q.No: 60 "In a Galilean Telescope a lens is used as the objective and a lens is used as the eye-piece.
2443840

A. Convergent

B. Divergent

Choose the correct code:

i et & & W &1 Iuan s & wu H faar o § iR @ <Y 1 Iuam e & T H a9 g
T, ffPRRO

B. 3UHRY

T BIS A "

A A

A A
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B YR -]
A B
B, A
C
r
D
B, B

Correct Ans : B

Subject : Physics

Q.No: 61 ‘Heating a china dish containing copper powder makes the copper powder become coated with a black substance.” Which of the following equations is a correct translation of t
2443735 gtatement?

S F USSR ¥ gad U A+ 7 B ITH e J TN DT Uk U P gerf > Ty At g e 31 Fufafaa & 3 3 a1 gk o3 o1 98t orarg 82

2Cu+ 0:-2Cu0
A
2Cu+0;-2Cu0
CuO +H;— Cu+ H.0
B
CuO +Hz—- Cu+ H0
CuO +Hz—- Cu+ H.0
e
CuO +Hz- Cu+ H.0
2Cu+ 02 -»2Cu0 + O3
D
2Cu+02-2Cu0 + O3

Correct Ans : A

Subject : Chemistry

Q.No: 62 "Which of the following is true?

2443738
1. Hydrogen ions in HCI are produced in the presence of water.
2. Hydrogen ions can exist alone.

Choose the correct code:"

"Profifed # 3 FF o ¥

1. HCI ¥ BT3SIoM 3 STd @) Iufkyfa & & 81
2. TSI A 31 3§ T4

@ P A"

Only 1

Fad 1
Only 2

Faq 2
Neither 1 nor 2

a1 dRTH2
Both

it

Correct Ans : A

Subject : Chemistry

Q.No: 63 Where can we find Methanoic Acid in nature?
2443739
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UPTd H HYARSD 3T gl Uil SIdl §?

Vinegar

ot

Sour Milk

gy
Ant sting

it F1EF

Tamarind

et

Correct Ans : C

Subject : Chemistry

Q.No: 64 Just like halogens, also exists as diatomic molecules and it combines with metals and non-metals to form covalent compounds.

2443748
FOSH A we, N RoRme sl % wu A divg § ok 98 wrgeit oiR srurgasil & Wy e Teedioe e s 31
Oxygen
A
ffefier
Nitrogen
B
ARG
Carbon
C
P
Hydrogen
D
Ll

Correct Ans : D

Subject : Chemistry

Q.No: 65 Which of the following has not been concluded by Rutherford from the a-particle scattering experiment?

2443753
TGS GRI 0~ Wahio weir & Fofaed & & 31 @ frseed 781 Freren mn 82
The positive charge of the atom occupies very little space.
A
TR BT YATHS A Tgad BH M Rl g
All the positive charge and mass of the atom were concentrated in a very small volume within the atom.
B
AT & T GHIHD AN SR S0 WA & iR S5 S0 a1 H Higd A1
Most of the space inside the atom is empty.
C
TRAT % 3feR BT HRHIR R Welt G ¥
The atom is indivisible and indestructible.
D

TRATY] U SR SifaAT=h &1
Correct Ans : D

Subject : Chemistry

Q.No: 66 Which of the following reactions produce insoluble salts?

2443795
FPrafifea & @ o9 @ ulafhar sifdc dau Jam S 82
Oxidation

A
Elchiczu
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Decomposition

SCK
Reduction
C
FH
Precipitation
D

ELlg

Correct Ans : D

Subject : Chemistry

Q.No: 67 solution is a purple dye, which is extracted from lichen, a plant belonging to the division Thallophyta, and is commonly used as an indicator.
2443796

R T ST 1 8, PR ddwTser Tgg & efla 4, argde | Fioren 9 7, 3R SMHdR R U@ Thas & &9 § IuanT i1 9 31

Litmus
A
forenw
Phenolpthalein
B
fpreredfer
Methyl orange
C
orerger
Iodine
D
SRS

Correct Ans : A

Subject : Chemistry

Q.No: 68 What is denatured alcohol?

2443805

fapa sicpiea Fm 87

The mixing of colour and methanol to ethanol for the purpose of industrial use
A

Ieifie Swdi & Sixg & giHTa # W ofR Burta a1 s

It is formed when alcohol reacts with oxygen
B

T T I § VI Iebiew o & ey wffn e

The product of ethanol reacting with concentrated sulphuric acid
C

AT 1 IE Hfd TewaRke RIS & 1y s Hea @

The product of alcohol reacting with sodium
D

Tfas & Ty vl 39 T sfehied ST SaE

Correct Ans : A

Subject : Chemistry

Q.No: 69 According to the modern periodic table, which of the following is not a metalloid or semi-metal?

2443808
fYfF o TR F SgER, Ffifed & § SH-91 Juwrg ar sief-urg 7E 82
Boron
A
SR
Silicon
B
Rttt

C Arsenic
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s
Sulphur

TR

Correct Ans : D

Subject : Chemistry

Q.No: 70
2443821

Which of the following was the first fully synthetic fibre?

Froferea 7 ¥ ean quf SRafia X2 S @ T2

Rayon

Ko

Cotton

Wool

Nylon

o

BIRGIEE

Correct Ans : D

Subject : Chemistry

Q.No: 71
2443857

Which of the following is correct?

faddsm o

Mass number = number of protons

SO WS = WelH 31 e

Mass number = number of protons + number of neutrons

A & = el 31 W + =g 3 v

Mass number = number of neutrons

SHAM U = GgH Bt Gl

Mass number = number of protons + atomic number + number of neutrons

THAH & = T 31 GO + TRAY HHIS + GgiH! ol el

Correct Ans : B

Subject : Chemistry

Q.No: 72
2443867

"Hydrogen bonding is responsible for which of the following unusual property/ies of water?

1. Its existence in liquid state over a wide range of one hundred degrees (273 K to 373 K).

2. High heats of fusion and vaporization
3. Its solid form (ice) being heavier than liquid water.

Choose the correct code:

"FIEEIoH STey STa & a7 9 59 sruR oAt & e Swert @2
1. 98 (273 K ¥ 373 K) U@ 91 {3 & R & 5a sa=n § giar 81

2. TP I feHid SR are e

3. TP 3N T (%) T U T UK e 2

e B8 g

Only 1 and 2

GET IT ON

Google Play
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Faa 1 iR 2
Only 2 and 3

Faa2 9k 3
Only1and 3

Faa 1 3R 3
1,2and 3

1,23R3

Correct Ans : A

Subject : Chemistry

Q.No: 73 What is the colour of the white silver chloride when it is placed in direct sunlight?

2443884

Tihe, e FRISS 1 Welt ¢u & R R IYBT 77 HAT a1 82

Green
A

I

Grey
B

P

Brown
C

Eicg)

Black
D

DI

Correct Ans : B

Subject : Chemistry

Q.No: 74 Which one of the following is the general formula of Alkenes?

2443890
Foafifd ¥ @ S1H-1 T (Alkenes) &1 HRT [ 82
CuHn
A
CnH,
CuHog
B
CuHon
CoHon
c
CuHon
CoHon-
D
CaHon-2

Correct Ans : B

Subject : Chemistry

Q.No: 75 Why did Rutherford select a gold foil for his experiment of finding the model of an atom?
2443897

IEIBIE F AT HSd Wit & U TN & forg 9 ) welt 1 e /it e

A As it is ductile
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P A TIT

As it is a noble metal

B
% 6 TP ST U}
As it is lustrous

C
i 75 THAR §
As it is thin

D
i T gaen ¥

Correct Ans : D

Subject : Chemistry

Q.No: 76  Which of the following is an example of Toggle Keys?

2411920
Frufifa § § SH-W1 A F BT T ISR 272
Shift
A
e
Alt
B
3ffee
Scroll Lock
c
wia did
Ctrl
D
T

Correct Ans : C

Subject : Technical Aptitude

Q.No: 77 is not an example of object-oriented programming language.
2411921
_ Sffediae-3ifuTs Ui Qe @1 IR T B
FORTRAN
A
BIRSIT (FORTRAN)
Java
B
W€l (Java)
Python
C
UIYH (Python)
Ruby
D
w4l (Ruby)

Correct Ans : A

Subject : Technical Aptitude

Q.No: 78 In a Flowchart, shaped boxes are used for 'Start' or 'End' command.
2411932

WA H, @R ¥ §ia¥ ‘Start’ 41 'End’ FAS ¥ T IudT T o §)

Oval
A

Ercand

Rectangular
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Diamond

TOHS 3HR

Hexagonal

HEHSPR
Correct Ans : A

Subject : Technical Aptitude

Q.No: 79 is a small piece of text sent to your browser by a website you visit.
2412177

3YP FRT S S I1ell JSAIRT GRT IS FIFIR W W MY TR BT TP BT 34
gl

Bot

£

Java Script

STt fepe

Cookie

ki

Candid

Fiss

Correct Ans : C

Subject : Technical Aptitude

Q.No: 80 is used to implement the parts of the app in C++ native code.
2412415

H1 IUE W & FB oW B C++ T FIs H an A & forw oz s g1

JNI
A

JNI

SDK
B

SDK

NDK
C

NDK

SNI
D

SNI

Correct Ans : C

Subject : Technical Aptitude

Q.No: 81  Which of the following statement/s is/are True about Routing Information Protocol?

2415949
Fafefea & § $1-973 Fuya IR FHidzE tieta & aR & ¥ 8/8?
It is a distance-vector routing protocol
A
78 T gigd-A0e wefen Mdwia ¥
It can be used to configure the hosts as part of a RIP network.
B
THHT ITAFT RE B RIP ead F W & w0 & SRR F & g fan o1 wewar 11
This type of routing requires little maintenance.
C

T UPR B TSR F U 1 TaRw1g T sawadnar gl 8l
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D All of the given options

fou v fower

Correct Ans : D

Subject : Technical Aptitude

Q.No: 82  Which of the following is not used as an input device?

2415963
Frofifea & 3 feue Iwd 39ge fSary & w9 & =& a1 o g2
Plotter
A
Wi
Optical Character Reader
B
it R 5T
Magnetic Ink Character Reader
C
FARS 3o Pae I
CRT Screen
D
HaRd A

Correct Ans : A

Subject : Technical Aptitude

Q.No: 83 RTP is a network protocol for delivering audio and video over IP networks. What is 'R' in RTP short for?

2415979
RTP, IP Jead R 3l siR difsdl ugam aren e Jead Wereia ¢ RTP & 'R &1 gof &9 @1 82
Reference
A
Reference
Real-Time
B
Real-Time
Raw
C
Raw
Record
D
Record

Correct Ans : B

Subject : Technical Aptitude

Q.No: 84 Which of the following term refers to the physical human characteristics to that can be used to digitally identify a person?

2415982
Frofifea # 4 #7-1 v Wive Arda fdvast @ wehia s R swm R wfi o RBfed w9 3 g % R s wwa 82
Wearables
A
e
Biometrics
B
e
Artificial Intelligence
C
nfefpima efnw
Graphical User Interface
D

Tfpe geR B
Correct Ans : B

Subject : Technical Aptitude
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Q.No: 85 In which among the following network, Communication channel is shared by all the machines on the network?

2420782
Froffea i § frg Jead # WER 30 Jead w 9t wiY g e e o g2
Multicast Network
A
ARIPIE Fead
Unicast Network
B
TRBRE Yeab
Point-point Network
C
Broadcast Network
D

sisHRe Tead
Correct Ans : D

Subject : Technical Aptitude

Q.No: 86 Which of the following protocol was succeeded by HTTP?

2420810
Frufifaa & § g Wdeia 3 HTTP &1 ®iH fimr ur?
Datanet
A
IEFE
WAIS
B
49 (WAIS)
Telnet
C
e
Gopher
D
TR

Correct Ans : D

Subject : Technical Aptitude

Q.No: 87 ' 100k at the table carefully and chose the appropriate operator for #

2443958
A | B |a#B
0o | o 1
0 1 0
1 0 0
1 1 0
difeeT #1 @mYes sread & AR & AT 3w Jaed & a9
A | B |a#B
o [ o 1
0o | 1 0
1 | o 0
1 1 0
EX-OR
A
EX-OR
EX-NOR
B
EX-NOR

C NOR
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NOR
NAND

NAND
Correct Ans : C

Subject : Technical Aptitude

Q.No: 88 The basic building block of a counter is -

2443960
ot aRieR @1 qu Pl g (ARie R safe) oo &2
OR gate
A
OR T
Flip - Flop
B
foReT9-Treita
Ex - OR gate
C
Ex-OR 7T
AND gate
D
AND e

Correct Ans : B

Subject : Technical Aptitude

Q.No: 89 The term ECL stands for:

2443961
g ECL 1 faga &9 o1 82
Electron Coupled Logic
A
TR FUTS WD
Emitter Coupled Logic
B
TR HUTS i
Enhanced Charged Logic
C
LeCISEISE NG
Extra Capacitance Logic
D

TR FARRE e
Correct Ans : B

Subject : Technical Aptitude

Q.No: 90 In a 1 to 4 De-multiplexer, how many select input lines are required?

2443963
1 4 9F & TguBd ([qaoE ¥ fa T9fid T7ge TR B STaxaddr gt 82
2
A
2
3
B
C
4

GET IT ON

Google Play
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5

Correct Ans : A

Subject : Technical Aptitude

Q.No: 91 ¢ : : e
2443965 Simplified Boolean Expression for (x +y) (x + ) is:

(x +y) (x + ) & AT gfergar e @1 §liga Ao

xy
A

xy

Xy
B

Xy

X
c

X

y
D

y

Correct Ans : C

Subject : Technical Aptitude

Q.No: 92 Conformal coating is done in PCB assemblies to-

2443968
ot 3. S B S (sgE) ST (sravvn) e o e s 2
Improve strength
A
i B A F Rig
Protect electronics form Moisture and contamination
B
ot TR # T SR T & T 3 g
Increase withstanding voltage
C
TRy e (RyamR) 3 91 & R
Improve aesthetics
D

TEfRF B TgH & fg
Correct Ans : B

Subject : Technical Aptitude

Q.No: 93 A 12 bit ADC is used to convert the analog voltage of 0 to 10V into digital. The resolution is -

2443969
09 10 V & @ dieest B f3Rrea A uRafida w3 % fow 12 fae & v, &1 Iudn far o 81 & IeiegzE @1 82
1.2 mv
A
1.2mv
2.44 mv
B
2.44 mv
24.4 mv
c
24.4 mv
2.4mv
D
2.4mv

Correct Ans : B

Subject : Technical Aptitude
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Q.No: 94 What kind of filter can be used to select a signal of one particular radio station?

2443995

forelt fodr Xl e & Ry @1 1 & o v e & fipeex 1 sxama o o e @2

Band pass
A

3 IRF

Band stop
B

¥s =l

Low pass
C

g are

High pass
D

9= URS

Correct Ans : A

Subject : Technical Aptitude

%&03:99957 Calculate the minimum sampling rate to avoid aliasing when a continuous-time signal is given by x(t) =3
cos 400mt
19 U TR TFY fA7aTel x(t) = 5 cos 400m SART f&T 10T §, Y 3T 1 IRasie el & forw
FIATH TAeist &3 &Y 0T HIfeTT
100 Hz
A
100 Hz
250 Hz
B
250 Hz
400 Hz
Cc
400 Hz
20 Hz
D
20 Hz

Correct Ans : C
Subject : Technical Aptitude

Q.No: 96 A scheme in which several channels are interleaved and then transmitted together is known as
2444002

I YOI FHT T Fgl T 7 R & Al ol sfarrafya fvar o § ofR R ey v fasan S 2

Frequency division multiplexing

A
ITqfr favrem sgddar
TDM
B
TDM
A group
C
U@ g
A super group
D

TH IR 98
Correct Ans : A
Subject : Technical Aptitude

0O.Na: 97
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2444014 Match the following

a) P-N )
JUI‘ICUOH . N .
diode ||
b) Zener L
diode N
L
c) iii)
Schoftky N
diode L1
d) iv)
Tunnel N
diode |
frafied 1 faam SR
a) P-N i)
STl o ~NI o
SRS L
b) =X )
g‘[{ﬂg‘ I\I/
=]
c) iii)
ThICHT N
I L1
d) eeter )
~J
SRS LT

a-iii, b-iv, c-ii, d-i

A
a-iii, b-iv, c-ii, d-i
a-iii, b-ii, c-i, d-iv
B
a-iii, b-ii, c-i, d-iv
a-i, b-ii, c-iii, d-iv
C
a-i, b-ii, c-iii, d-iv
a-ii, b-iii, c-iv, d-i
D

a-ii, b-iii, c-iv, d-i
Correct Ans : B

Subject : Technical Aptitude

Q.No: 98 The frequency of rectified A.C. of a full-wave rectifier is:

2444015
T qUl-ad fevert & fef¥pa AC &1 emgfir @ St 87
The same as the supply frequency
A
SR aqfy F wae it §
Twice the supply frequency
B
SR amafts ot e Bt &
Zero
C

RS
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D Everr e s s epery rE ey

Smfe amgfay #t one SR T

Correct Ans : B

Subject : Technical Aptitude

Q.No: 99 What does the term "Bias" mean?

2444017
weg "3fifar B a1 @ 2
The ratio of majority and minority carriers
A
TFHES R NS AR BT U
The amount of current across the P-N junction
B
P-N SIaRM W 4RI &1 76T
A d.c. voltage applied across the P-N junction to control its operation
C
! withar &) Fafa w37 & [T P-N Sa=M W O] & d.c. dieed
None of the given options
D

fw u Reedt & § B T

Correct Ans : C
Subject : Technical Aptitude

Q.No: 100 A transistor (BIT) is a operated device.
2444019
T gifRer (BIT) & AT U Bl
Current
A
URT
Voltage
B
Areest
Both voltage and current
C
AR IR T G
None of the given options
D

fau e Reedl & § B T

Correct Ans : A

Subject : Technical Aptitude
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